OCR Maths FP1 Topic Questions from Papers Proof by Induction

$$\mathbf{1} \qquad \mathbf{M} = \begin{pmatrix} 2 & 3 \\ 0 & 1 \end{pmatrix}$$

PMT

PMT

(iv) Prove by induction that
$$\mathbf{M}^n = \begin{pmatrix} 2^n & 3(2^n - 1) \\ 0 & 1 \end{pmatrix}$$
, for all positive integers n . [6] (Q9, June 2005)

2 Prove by induction that, for
$$n \ge 1$$
, $\sum_{r=1}^{n} r^2 = \frac{1}{6}n(n+1)(2n+1)$. [5] (Q2, Jan 2006)

3 The matrix **A** is given by $\mathbf{A} = \begin{pmatrix} 2 & 0 \\ 0 & 1 \end{pmatrix}$.

(i) Find
$$A^2$$
 and A^3 . [3]

(ii) Hence suggest a suitable form for the matrix
$$\mathbf{A}^n$$
. [1]

(iii) Use induction to prove that your answer to part (ii) is correct. [4]

(Q7, June 2006)

4 The sequence u_1, u_2, u_3, \ldots is defined by $u_n = n^2 + 3n$, for all positive integers n.

(i) Show that
$$u_{n+1} - u_n = 2n + 4$$
. [3]

(ii) Hence prove by induction that each term of the sequence is divisible by 2. [5] (Q6, Jan 2007)

Frove by induction that, for
$$n \ge 1$$
, $\sum_{r=1}^{n} r^3 = \frac{1}{4}n^2(n+1)^2$. [5] (Q2, June 2007)

6 The sequence u_1 , u_2 , u_3 , ... is defined by $u_1 = 1$ and $u_{n+1} = u_n + 2n + 1$.

(i) Show that
$$u_4 = 16$$
. [2]

(ii) Hence suggest an expression for
$$u_n$$
. [1]

(iii) Use induction to prove that your answer to part (ii) is correct. [4]

(Q8, Jan 2008)

7 The matrix **A** is given by $\mathbf{A} = \begin{pmatrix} 3 & 1 \\ 0 & 1 \end{pmatrix}$. Prove by induction that, for $n \ge 1$,

$$\mathbf{A}^{n} = \begin{pmatrix} 3^{n} & \frac{1}{2}(3^{n} - 1) \\ 0 & 1 \end{pmatrix}.$$
 [6] (Q4, June 2008)

It is given that $u_n = 13^n + 6^{n-1}$, where *n* is a positive integer.

PMT

(i) Show that
$$u_n + u_{n+1} = 14 \times 13^n + 7 \times 6^{n-1}$$
. [3]

(ii) Prove by induction that u_n is a multiple of 7. [4]

(Q7, Jan 2009)

The sequence u_1, u_2, u_3, \dots is defined by $u_1 = 3$ and $u_{n+1} = 3u_n - 2$. 9

(i) Find
$$u_2$$
 and u_3 and verify that $\frac{1}{2}(u_4 - 1) = 27$. [3]

(ii) Hence suggest an expression for u_n . [2]

PMT

(iii) Use induction to prove that your answer to part (ii) is correct. [5]

(Q10, June 2009)

- The matrix **M** is given by $\mathbf{M} = \begin{pmatrix} 1 & 2 \\ 0 & 1 \end{pmatrix}$. 10
 - (i) Find \mathbf{M}^2 and \mathbf{M}^3 . [3]
 - (ii) Hence suggest a suitable form for the matrix \mathbf{M}^n . [1]
 - (iii) Use induction to prove that your answer to part (ii) is correct. [4]

(Q10, Jan 2010)

PMT

- Prove by induction that, for $n \ge 1$, $\sum_{r=1}^{n} r(r+1) = \frac{1}{3}n(n+1)(n+2)$. 11 [5] (Q1, June 2010)
- 12 The sequence u_1, u_2, u_3, \ldots is defined by $u_1 = 2$, and $u_{n+1} = 2u_n - 1$ for $n \ge 1$. Prove by induction that $u_n = 2^{n-1} + 1$. (Q3, Jan 2011)
- Prove by induction that, for $n \ge 1$, $\sum_{i=1}^{n} \frac{1}{r(r+1)} = \frac{n}{n+1}$. 13 [5] (Q2, June 2011)
- The matrix **M** is given by $\mathbf{M} = \begin{pmatrix} 3 & 0 \\ 2 & 1 \end{pmatrix}$. 14

(i) Show that
$$\mathbf{M}^4 = \begin{pmatrix} 81 & 0 \\ 80 & 1 \end{pmatrix}$$
. [3]

- (ii) Hence suggest a suitable form for the matrix \mathbf{M}^n , where n is a positive integer. [2]
- (iii) Use induction to prove that your answer to part (ii) is correct. [4] (Q7, Jan 2012)

15 Prove by induction that, for
$$n \ge 1$$
, $\sum_{r=1}^{n} 4 \times 3^{r} = 6(3^{n} - 1)$. [5] (Q5, June 2012)

- The sequence u_1, u_2, u_3, \dots is defined by $u_1 = 2$ and $u_{n+1} = \frac{u_n}{1 + u_n}$ for $n \ge 1$.
 - (i) Find u_2 and u_3 , and show that $u_4 = \frac{2}{7}$. [3]
 - (ii) Hence suggest an expression for u_n . [2]
 - (iii) Use induction to prove that your answer to part (ii) is correct. [5] (Q10, Jan 2013)
- **17** The matrix **M** is given by $\mathbf{M} = \begin{pmatrix} 2 & 2 \\ 0 & 1 \end{pmatrix}$. Prove by induction that, for $n \ge 1$,

$$\mathbf{M}^{n} = \begin{pmatrix} 2^{n} & 2^{n+1} - 2 \\ 0 & 1 \end{pmatrix}.$$
 [6] (Q4, June 2013)

